NovEmger A0
Math 131, Test 4, OcioberZ8, 2008 Name:

No graphing calculators or electronic communication of any kind. If you need extra paper please ask.

Credit will be awarded for correct content and clarity of presentation. Prepare for math battle. This test
has 105 points, 5 are bonus points. Make sure to at least attempt each part.

1. [40pts.] Integrate. For full credit show work.
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2.[10pts] Suppose Dwight has initial position :(0) = 4 and initial velocity
v(0) = 8. If the acceleration of Dwight at time ¢ is a(t) = t? + 1 then find the
velocity v(t) and position z(¢) of Dwight.
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3.[25pts] Find area bounded by the curves z = y and y = 6 — % Your solution
should include a graph which indicates how you set up dA.

A ::rn%ers@&'x an Pmiv&s' ?
\g'r - uéw

E-X*= x

X4 x -6 =0

(<+3)(x-2) =6
X=2 X =-3

R

dA == (%T "’”UM)OQX

= (6—%x*-Xx)dx for -3=X=7




4.[25pts] Calculate the volume of the solid which is obtained by rotating the area
bounded by y = z and y = 222 around the z = 2 axis
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3.[25pts] Find area bounded by the curves z = y and z = 6 — y2. Your solution
should include a graph which indicates how you set up dA.
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4.[25pts] Calculate the volume of the solid which is obtained by rotating the area
bounded by ¥ = z and y = z? around the z = 2 axis.
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5.[5pts] Calculate the volume of a right circular cone of height /& and radius A
which has a hole of radius R drilled vertically from the point of the cone all the

way to the center of its base.

: ‘
: ]
glmx l e «)r'f"mm@x}&&f

(:;

-

= (A (797 = Rk %)
&) 2 fi2_ [hR)3 Z(mm‘
“W[%’ii(w"@f\")g"R h- b2 ]

i
=h
M wl-
' P
N
4
WD
1>,
§
=7
o
Nl
NoR, you
i
< |




